Mots alignés: du nom au verbe (2) ]

alb|c|dfe |f [g|h|i |[j |[k|]l m[n |o |p |(q |r [s [t |u (v |w|(x |y |z

Trouve le verbe corresponjdant au nom proposeé.

1. un essai -8

. un jeu +0

. le savon -5

. le permis -4

. le pardon -4

. le regard +5

. un trait +16

. la privation +0

O]l w| N[l o] Al O] N

. la sonnerie +5

-y
(=]

. le jardinage -5

11. la coupure +4

12. une nomination +7

13. ’enterrement -13

14. la prolongation +12

15. la volonté -4

16. la fermeture +1

17. la poursuite +0

18. la conquéte -15

19. I’anéantissement -12

20. une invasion +0

21. une évasion (s’) +16
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Mots alignés: du nom au verbe (2) (correction) ]

alb|c|dfe |f [g|h|i |[j |[k|]l m[n |o |p |(q |r [s [t |u (v |w|(x |y |z

Trouve le verbe corresponjdant au nom proposeé.

1. un essai E (S |S |[A |Y-8|E |R
2. un jeu J (0 |U+*°lE (R
3. le savon s [A |V [O |N |NS R
4. le permis P |[E IR |[M |[E (T 4R |E
5. le pardon P |[A |[R [D |O |N E-4
6. le regard R |E |G |A |R |[Ds R
7. un trait T |[R |A |[CE |R
8. la privation P |R |I V |E*°R
9. la sonnerie S |0 [N |NS|E |R
10. le jardinage J (A |R (D [I-5N |E |R
11. la coupure CcC (O |U |[P+4|E |R
12. une nomination N o |[m M ! E |R
13. I’enterrement E [N |T |[E |[R |R ” E
14. la prolongation P [R [o [t o |[v [¢ e [r
15. la volonté vV |O |U |L [0 [I-4]|R
16. la fermeture F [E [R [M'|E |R
17. la poursuite P o |[u |[IR |s |Uu |1 |v |[R°|E
18. la conquéte C |0 [N |Q |U (E R"|1 R
19. ’anéantissement A |N [E |ao |n [T¥)1 |R
20. une invasion E |[N |V |A |[H |[I'°(R
21. une évasion (s’) E [V |A b [R
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